Лексико–грамматическая работа № 1

( 2 курс 3 семестр Маслова)

       I. Используя словообразовательные элементы (-ness, un- , intra- , -th, -ment), образуйте    подходящие по смыслу производные от слов, данных в скобках:
	1) (Dull) in the lung, accelerated respiration and crepitation may be the evidence of lobular pneumonia.

	2) The overdosage of some drugs may cause (favorable) reactions.

	3) The high (cranial) pressure followed by constant headaches may be one of the symptoms of (cranial) growth.

	4) Shadowing was particularly marked at the base of the left lung due to the (enlarge) of the lymphatic glands.

	5) This new substance was not toxic to the tissues and stopped the (grow) of the most common pathogenic bacteria.


II. Выберите правильный вариант ответа из предложенных ниже:
1. Last week my elder sister … ill with the grippe.
	a) fell
	b) dropped
	c) catch


2. The patient’s … was thickly coated.
	a) language
	b) tongue
	c) tooth


3. The surgeon performs … operations on the eyes.
	a) thin
	b) smooth
	c) delicate


4. Sleep is of a great protective … to the human body.
	a) purpose
	b) significance
	c) insufficiency


5. Medicines were prescribed to the patient … his sleep.
	a) to improve
	b) to impair
	c) to enlarge


III. Прочитайте предложение. Выберите один из предложенных вариантов ответа.
1) (Все) should remember that the connection of any virus with the body tissues changes their properties.
	a) everybody
	b) anybody
	c) nobody


2) The boy has impaired (что-то) in his abdomen when he fell down.
	a) nothing
	b) something
	c) anything


3) (Кто-то) wanted to speak to the doctor about the condition of patient Smirnov.
	a) somebody
	b) no one
	c) any one


4) We shall go (куда-нибудь) on Sunday.
	a) any where
	b) nowhere
	c) somewhere


5) The scientist did not observe (ничего) new.
	a) nothing
	b) something
	c) anything


IV. Выберите правильный вариант перевода предложений.
1) It is at the moment of tiredness of the cortical nervous cells that the process of inhibition begins to act.

a) Это в момент утомления нервных клеток коры процесс торможения начинается.

б) Именно в момент утомления нервных клеток коры процесс торможения начинается.

в) Процесс торможения начинается после утомления нервных клеток коры.
2) It was not until 1911 that a first really successful theory of atomic structure was developed by Rutherford.

a) Только в 1911 первая действительно успешная теория структуры атома была разработана Резерфордом.

б) Это было до 1911, когда первая действительно успешная теория структуры атома была разработана Резерфордом.

в) Резерфорд разработал первую действительно успешную теорию структуры атома в 1911.
3) It was blood gases that Sechenov investigates in 1858.

a) Сеченов исследовал газы крови в 1858.

б) Именно Сеченов исследовал газы крови в 1858.

в) Именно газы крови исследовал Сеченов в 1858 году. 
V. Выберите соответствующую форму заменителей модальных глаголов в следующих предложениях.
1) The scientist … observe a rapid growth of microorganisms under microscope.
	a) are able
	b) is able to
	c) have to


2) His constant tiredness … impair his health.
	a) are allowed to
	b) have to
	c) is allowed to


3) We … increase the amount of food given to this patient.
	a) have to
	b) has to
	c) is allowed to


VI. Выберите правильную форму сказуемого в следующих предложениях.
1) The doctor considers that patient Ivanov … from the hospital by the end of the next week.
	a) have discharged
	b) has been discharged
	c) will have been discharged


2) The pain in the lower part of the chest … by the end of the treatment finished last week.
	a) controlled
	b) had been controlled
	c) was controlled


3) The research worker can draw his conclusion because all his investigations … already.
	a) have been accomplished
	b) are accomplished
	c) have accomplished


VII. Выберите правильный вариант перевода предложений из предложенных ниже:

1) The disease can’t have developed so quickly.
а) Заболевание не может развиваться так быстро.
b) Заболевание не может развиться так быстро.
с) Заболевание может развиться так быстро.
2) He may have performed an operation on the heart.
а) Он, возможно, сделал операцию на сердце.
б) Он, может быть, делает операцию на сердце.
с) Он, может быть, сделает операцию на сердце.
3) The infant is quit now. Mother must have fed it.
а) Младенец спокоен сейчас. Мама должно быть его кормит.
b) Младенец спокоен сейчас. Мама должно быть его покормила.
с) Младенец спокоен сейчас. Мама должно быть его покормит.
VIII. Выберите правильную форму глагола из предложенных ниже:

1) Some symptoms of the vascular impairment of the brain … gradually for some time before they became clearly marked.
	a) is developing
	b) had been developing
	c) had developing


2) The red blood cell count … gradually to normal as the patient is being given blood transfusions.
	a) has been returning
	b) has returning 
	c) has being returning


3) We … this case for three weeks by the end of the year.
	a) shall been investigating
	b) shall have been investigating 
	c) have been investigating


IX. . Выберите правильный вариант перевода следующих слов.
1) встречаться, происходить, случаться
	a) to catch
	b) to report 
	c) to occur


      2) рана, ранение
	a) throat
	b) cough 
	c) wound


      3) улучшать(ся)
	a) to impair
	b) to improve 
	c) to enlarge


      4) обильный, чрезмерный
	a) permanent
	b) purulent
	c) profuse


      5) выздоровление
	a) recovery
	b) treatment
	c) call


 X. Из слов, данных в скобках, выберите соответствующие по смыслу:
1) The patient became quiet a soon (dropped, fell) asleep.
2) His heaving is (weak, delicate) and he can hear any sound well.

3) The patient develops a short, painful dry (cough, rales) in case of bronchitis.
4) The scientist (expected, waited for) that his investigations would enable him to determine the origin of the infections process.
5) The shadow at the base of the left lung was particularly marked due to the (enlargement, decrease) of the lymphatic glands.
XI. Переведите на английский язык придаточные предложения.
1) The blood supply of the diseased lung will be restored … как только уплотнение в нем исчезнет.
2)  The patient will be administered a proper diet … как только будет готов анализ желудочного сока.
3) Tomorrow I shall be able to allow the patient to sit up при условии, что его частота сокращений сердца будет нормальной.
4) The treatment will be prolonged до тех пор пока не будет достигнута положительная реакция.
5) She will have to be admitted to the clinic если будет сохраняться учащенная частота дыхания.  
